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Quiz 10 (20 points)

1. (10 points) Coniferin, a sugar derivative found in conifers such as fir trees, has a composition of 56.13% C, 6.48% H, and 37.39% O, by mass.  A 2.216 g sample is dissolved in 48.68 g of water and the solution is found to have a boiling point of 100.068 oC.  What is the molecular formula of coniferin?
2. (10 points) A 0.682 g sample of ICl(g) is placed in a 625 mL reaction vessel at 682 K.  When equilibrium is reached in the reaction, 0.0383 g I2 is found in the mixture.  What is the Kc for this reaction?  What is the Kp?
2 ICl(g)  ((  I2(g)  +  Cl2(g)










